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Please note:

1

This is a fill-in examination paper and there is no need for any
examination scripts. Students must hand over the examination paper to
the invigilator before leaving the examination hali. Students must answer
the questions in the spaces which have been provided in the examination
paper.

Pages for rough work have been provided (see pages 14 to 15). No rough
work will be marked.
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MULTIPLE CHOLICE QUESTIONS

r

SECTION A :

1. During a hailstorm the gutters of a house are blocked. This causes
consequential damage (o the possessions in the house

indicate the incorrect statement.

The hail can be considered both a peril and a hazard in this case.
The blocked gutters are a physical hazard.

The blocked guiters are a peril.

The storm is a peril.

B poo—

2. The incompetence of production siaff for a motor manufacturer can be
considered as a .... for the specific organisation.

1 incidental business risk

2 eventrisk

3/ core busineskiisk

4 {undamental pure risk

3. A South African bank with a short position in American Dollar ._......
will gain by a depreciation of the Rand against the Dollar

]
2 will gain by an appreciation of the Rand against the Dollar.
3 has more assets in US Dollar than liabilities.

1
4’ is exposed to currency risk.

4 Which of the following can be classified as moral hazards?

a adriver of a motor vehicle driving under the influence of alcohol

b a worker leaving a dangerous machine unatiended to tatk to other workers.
¢ abusinessman loading insurance claims.

d an employee who occasionally steals money from the penty cash.

Indicate the eorrect combination

1 abed

2 abc

3 acd

4 ¢cd

5 A probability distribution is ..

a way of expressing risk.

a collectively exhaustive list of all outcomes,

a way of expressing risk and return under certain circumstances.
none of the above.
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6. Which of the following is not a risk control expenditure?

1 depreciation on security systems

2 risk control training.

3 costs attached to handling of insurance claims.

4  management (ime utilised on handling insurance claims.

7. Which of the following methods can be used in the evaluation of loss
frequency?

Pareto rule

Accumulation

Maximum possible loss (MPL)
‘Asif' analysis

- YR S By

e

The impact of corporaie governance on business areas of the enterprise
include, inter alia, the following:

Employing assels efficiently.
Meeting socidi obligations.
Improving overall performance.
Anracting lower-cost capital.

an oo

Choose the correct combination

a,d

a,bd

a,cd
“abed

Bl D=

9. Displaying disclaimer notices in a parking area is an example of .

physical rislk control
procedural risk control.
risk elimination.

, legal risk controt

[ S PYR

10. Indicate the incorrect statement.

| Futures contracts are traded on a formal exchange.

g Fuluras contracis tend to be more expensive than forward contracts.
are iess liguid than future contracts.

4 Forward conlfifis entait higher credit risk than future contracts,

&
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Answer the next two questions by making use of the following information:

9
Company A uses short-term finance by issuing banker's acceptances. The
treasurer expects short-term interest rates to rise and wants to hedge the next BA-
rollover . Assume the following information applies:

Nominal amount R1 000 000
Current date 4 April
Rollover/settlement date 20 July
Spot rate on 20 July 15,50%
FRA spot offer rate 16,60%

The treasurer wants to hedge the next rollover by buying an FRA at 16 60%

11. In order to lock in the discount rate at 16.60%

1 the bank will have to pay R2 712,33 to Company A
2 Company A will have to pay R2 712,33 to the bank
3 the bank will‘have to pay R4 685 to Company A

4 Company A will have to pay R4 685 to the bank

12. The cost (discount} of issuing the BA will be as follows:

1 R40150,68
2 R38219,18
3 R35506,85
4 R 3,452,05

13. Which of the following are examples of alternative risk transfer (ATR)
techniques?

Futuras

Captives

Commercial insurance
Swaps

a0 o

Choose the correct combination

ab.cd
a,b,d
ad

b,c

[TURN OVER]



i © “MINK203-R
; May/June 2006

14, Which of the following statements is correct?

1 Risk and uncertainty are mutually interchangeable concepts.
Uncertainty in terms of motorcar accidents can be classified as subjective
uncertainty. ‘
- 3 Only fundamental pure risks are insurable.
4 Investrment risk refers to the risk thal an organisation may lose interest income
due to changes in the market inieres! rates.

15. Indicate the correct staiements

a In case of an interest rate collar, the borrower is protected against rates rising
above the determined limit, while the lender is protected from rates falling
below the limit.

b When closing an interest rate swap deal, it is important that the net present
value of future cash flows for the fixed and variable side of the deal must be
equal to zero.

¢ The result of an interest rate swap transaction is that the interest rate
obligations as well as the risk of inherent interest rate changes are swapped.

d  American optiohs can be exercised al any time until the expiration date while
European qgJions can only be exercised on the expiration date.

Choose the correct combination

1 abgcd
2 abc
3 bed
4 ad

16. Indicate the correct statement

The degree of risk is calculated as the frequency with which an event occurs.
Risk is present in situations of certainty,

- Risk is the deviation of actual results from expected results.
All events have a probability of between 0 and 10.

NN

17. Indicale the correct statemeni.

According to the traditional approach risks are managed using derivatives.
The traditional approach adopts a comprehensive approach to managing risks.
The traditional approach integrates the efforts of operating managers and risk
managers.

4 The traditional approach views risk management as part of everyone's job,

L b=
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18. The need for a more integrajed and holistic view of risk management is
emphasized by. .

change
globalisation
¢ technology

oo

d increased concentration of risk
e the increased value of tangible assets

Choose the correct combination

abede

ab,c.e

ab,d.e i
acde

[ SNE S

19. A driver training programme is an exarmple of..

1 risk transfer.
2" risk reduction.

: 3 risk avoidance

4 tisk elimination

20. Which of the following aspects are normally not considered when establishing
the potential frequency of losses?

1 Incident reporting.
2 . National and international trends.
3 . Sianding charges.

Near misses.

21, Assume the following hypothetical distribution of stock losses for a small
chain of retail slores

“AMOLUNT OF LOSS [ FROBABILITY OF OUTCOME |
R40 000 _Ll}.iﬂ B

R50 000 LR = ==
R60D00 020 e Lo
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The expected value of losses is as follows:

1

3
4

22.

1
2
3

R37 000
47 000

R50 000

R150 600

All of the following are benefiis of ERM except:
increased organisational effectiveness

better risk reporting
improved business reporling

yeaming from experience

23

1
2
3
4

24,

v 1
L2
3

The setting of clear goals and objectives is part of which one of the elements
of the business risk management process?

Establishment of the process.

Assessment of the business risks.

Formulation,~T the risk management strategies.

Design and implementation of the risk management strategies.

All of the following are classes of risk management objeclives except?
Operational objectives

Reporting objectives
Strategic objectives

4 _Compliance objectives

25.

I
pA
3

4

26.

.
o0 oW

Indicate the correct statement

When buying interest rate futures one will benefit from a fall in interest rates.
When buying interest rate futures one will benefit from a rise in interest rates.
When selling interest rate futures one will benefit from an upward move in the
markeL.

When selling interest rate futures one will benefil from a rise in the interest
rates.

Which of the following environmental factors are contributing to the
successful implernentation of an ERM framework?

Culture.

Performance management and campensation.

Training and communications.

Data and information systems. = ~{encie o0
k]
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Choose the correct combination

1
2
3
4/

ab,c.d
a,c,g
ab.e
ad

27. To ensure conlinucus risk management learning, the following outcomes

should be pursued

Leaming from experience is valued and lessons shouid be shared (o create a
supportive work environment,

Learning plans should be built into the enterprise’s risk management practices.
The results of risk management should be evaluated to support innovation,
capacily building and continuous improvement,

Experience and besl practices should be shared — internally and across the
enterprise. :

Choose the correct combination

[N IV N R

[ =T SR = i 2

ab,cd
a,c,d
a,b
ad

8. Which of the following are characteristics of good corporate governance?

discipline

responsibilily
Lrangparency

economic responsibility

Choose the correct combination

b
2

3
4

~a,b,c.d
ab,.c
b.d
b,c

29. The destruction of a factory by a fire is a category twa type of risk,

1

characterised by .......

Low frequency and low severity.

: _’24-/L0w frequency and high severity.

3 High frequency and low severity.

4

High frequency and high severity.

.
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30. Which of the following are considered limitations of the Companies Act in

(=9

& Wifes

—

terms of corporale governance?

1t does nol address the accountability and responsibility of an enterprise 10 its
stakeholders.

It does not provide for tripple bottom-line reporting; only for financial
reporting.

1t does not reguiate the supply of non-auditing services by the auditing firm.
It is not difficult to police the dealings of boards and directors.

Choose the correct combination
a,b
a,b,d

a,b,c
c,d
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SECTION B : PARAGRAPH QUESTIONS AND CALCULATIONS

Question 1 i

1. List and briefly explain the five steps/tasks in establishing a basis from which to
launch an ERM strategy . [10]
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Question 2
2.1 Discuss the difference between a forward contract and a futures contract. (4)

{‘_Gcwafd coakinck z
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- Explain what s meant by a perfect hedge. (2

OO0 s

C H‘--""\ PO Dmy s T poi.d\C.r\\ ava ¢« acts other

2.3 Explain why it is important to establish a common language for risk in the
enterprises. (4
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Question 3

3.1 An organisation buys a six month option to sell an asset at a strike price of R12
000. The cost of the option amounts to R600. Twoe months after the transaction
the market value of the asset dropiped to R11 000.

3.1.1  Graphically illustrate the position of the buyer of the aplion at the market

value of R11 000. (4}
'J .
S b
WO Y llax‘:_ S
- - N pok
] I./

Locu?

' S S

| hooo -1 oos i Q;('}O,)

i - d
[

3.1.2  Expiain the profitfloss position of the buyer of the option if the option is

* Mot axercised (2]
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313 Indicate how the position of the buyer will be affected, if it is a European

option. (2)
bat € ore _
_\eﬁ T 3 pegA o ] ferve o
t10f
Question 4
4] Identify and define the two categories of event risk, )
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42 List six trends necessitating the development of a strategic approach to risk

managemant (6
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DO YOUR ROUGH WORK HERE.

NO ROUGH WORK WILL BE MARKED.
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